BODY & TRIM - coMMON

ACCESS PANEL

5515
For G&E 1997-up TXT
OEM #71320-GO1

Rear access panel, black plastic

BUMPER MOLDING

3014 54 roll (enough for 2 cars)

For G&E 1965-94 pre Medalist
OEM #18472-G1

Black rubber vinyl molding, extra flexible

FRONT SHIELDS

5504 5509 3087 100/Pkg
For G&E 1989-up For G&E 1979-88 OEM #18436-G1
OEM #27166-G02 OEM #15929-G1

=

Front plastic shield/shock cover Front plastic shield/shock cover Black plastic large flange drive rivets

REAR BUMPERS

5520

For G&E 2000-up TXT
OEM #71578-GO1

Short rear bumper for TXT

3238 OEM #71451-G02 3239 10/Pkg

For G&E 1996-99 TXT For G&E 1996-99 TXT

OEM #71457-G01
Rear bumper with mounting stays Rear bumper mounting stays
3240 OEM #71456-G01 4813 10/Pkg

For G&E 1996-99 TXT

OEM #71455-G01 ‘ .

4 Caddy rear bumper with mounting stays Rear bumper bolt hole cover plug

For G&E 1996-99 TXT 4 Caddy & Limo

G020-09739v3

Bagle Distributors Lid, )

196 Pakenham St West Westhaven PO Box 90 205 Auckland Mail Centre Auckland New Zealand

Phone: +64 9 302 2444 Fax: +64 9 309 6897 sales@eagledistributors.co.nz www.eagledistributors.co.nz 9



BODY & TRIM - COMMON
| ROCKER PANELS & SILL PLATES

4831 Passenger side 4602 Passenger side
OEM #71501-G01 OEM #71507-G01
4833 Drivers side 4606 Drivers side
OEM #71502-G01 OEM #71507-G02

For G&E 1994-up For G&E 1994-up

......II........ e
Rocker panels Stainless steel sill plate

5595 Passenger side
OEM #71439-G02
5592 Drivers side

OEM #71439-G01
For gas 1996-up ST350 Workhorse

FLOOR MATS

1805 1808
For G&E 1994-01 For G&E 1994-up
(except Freedom model)
OEM #70048-G01
Spike cleaning floor mat.
Commercial grade turf style black grass. Comes
One piece pre-cut black vinyl pebble grain floor mat with 12 self-tapping screws for permanent installation
1819 1829 1804
For G&E 1989-94 pre Medalist For G&E 1965-88 Universal applications
OEM #25091-G1 OEM #18350-G1

One piece pre-cut black vinyl One piece pre-cut black vinyl One piece black vinyl pebble grain
pebble grain floor mat pebble grain floor mat floor mat 40" x 48" x 3/16”

SEAT WRAP TRIM & DASH MAT

3088

For G&E 1984-94 pre Medalist
OEM #26437-G01

Black seat wrap scuff guard 55" x 4-7/8"

) Eagle Distributors Lid,

196 Pakenham St West Westhaven PO Box 90 205 Auckland Mail Centre Auckland New Zealand
Phone: +64 9 302 2444 Fax: +64 9 309 6897 sales @eagledistributors.co.nz www.eagledistributors.co.nz

EAGEZG0-0205



G020-09739v3

BODY & TRIM - cOMMON

5550
For G&E 1996-02 TXT

OEM #71158-G01 -

4 cup insert, black plastic

5551

For G&E 1990-94 pre Medalist
OEM #27167-G01

4 cup console, black plastic

MUD GUARDS

3015 Passenger side
OEM #23931-G1
3016 Drivers side

OEM #23931-G2
For G&E 1989-94 pre Medalist

WSS

Black vinyl mud guards 33-1/2"

3023 Black
For G&E 1965-88

OEM #14638-G1

Black vinyl mud guard 26"

SCUFF GUARDS & SPIKE GUARDS

5519 Passenger side
OEM #75126-G02
5518 Drivers side
OEM #75126-G01

For G&E 1996-up TXT only \
Scuff guard

5517 Passenger side
OEM #71373-G02
5516 Drivers side

OEM #71373-GO1
For G&E 1994-99 Medalist only

Scuff guard

4901 Passenger side

OEM #20400-G1

4902 Drivers side

OEM #20400-G2

For G&E 1965-94 pre Medalist
Spike guards

3092 100/Pkg
OEM #16816-G2

Black plastic Xmas tree push rivet
Used to secure spike guards and other trim

Eagle Distrilbutors Lid.

196 Pakenham St West Westhaven PO Box 90 205 Auckland Mail Centre Auckland New Zealand
Phone: +64 9 302 2444 Fax: +64 9 309 6897 sales@eagledistributors.co.nz www.eagledistributors.co.nz

11



BODY & TRIM - cOMMON

REAR FENDER CAPS

3215 Passenger side 3033 100/Pkg
OEM #27163-G01 For G&E all years
3216 Drivers side OEM #15058-G3

OEM #27163-G02
For G&E 1971-94 pre Medalist #:

Large flange pop rivet, 5/8” head, 1/2” long, black
Used to secure fender caps and other trim

5532
For G&E 1994-99 Medalist only f
OEM #71401-G02

Fender cap without taillight cutouts

BAGWELL LINERS

5514

For G&E 1996-up TXT only
OEM #71318-G01

Bagwell liner Bagwell liner

3092 100/Pkg 3087 100/Pkg

For G&E all years
OEM #16816-G2

For G&E all years
OEM #18436-G1

Black plastic Xmas tree push rivet Black plastic large flange drive rivet

BAG RACK KITS & PARTS

3028 3021 3030
For G&E 1976-94 pre Medalist For G&E 1976-94 pre Medalist For G&E 1976-94 pre Medalist
OEM #17282-G1 OEM #14643-G1 OEM #16610-G1
¥
o=
Bag rack strap kit complete Bag rack pad 36" x 2", black vinyl Stainless steel anchor plate

BAG RACK STRAPS & BUCKLES

3027 3031
For G&E 1994-up For G&E 1976-94 pre Medalist
OEM #71853-G01 OEM #15902-G1

Bag rack strap 75-3/4" Bag rack strap 66"

) Bagle Distributors Lid,

196 Pakenham St West Westhaven PO Box 90 205 Auckland Mail Centre Auckland New Zealand
Phone: +64 9 302 2444 Fax: +64 9 309 6897 sales @eagledistributors.co.nz www.eagledistributors.co.nz

EAGEZG0-0205



G020-09739v3

BODY & TRIM - cOMMON

BAG RACK STRAPS & BUCKLES

3061
For G&E 1994-up
OEM #71856-G01

Bag strap clamp

3053

For G&E 1976-94 pre Medalist
OEM #16920-G1

Nylon bag rack strap buckle, black

3032

For G&E 1976-94 pre Medalist
OEM #16920-G1 =

Chrome bag rack strap buckle

BALL HOLDERS & BRACKETS

3013

For G&E 1983-94 pre Medalist
OEM #18275-G1

Black vinyl ball holder
7-1/4” with 2 predrilled holes

3022

For G&E 1965-82
OEM #14641-G2

Black vinyl ball holder 7-1/2" with 3
predrilled holes. Use with #3007

3007

For G&E 1965-82
OEM #11588-G1

Ball holder bracket use with #3022

STEERING WHEELS

5546

For G&E 2000-up also 1996-up ST35
OEM #71146-G01

Steering wheel only, new style

4669
For G&E 1983-00
OEM #18325-G1

with scorecard hold

Middle style steering wheel

s,

er & hub

5547 coveronly

For G&E 2000-up also 1996-00 ST350
OEM #71147-GO01

4670
OEM #23172-G1

Steering wheel only

4671
OEM #27102-GO1

5548 Hub only
For G&E 2000-up also 1996-up ST350

OEM #71949-G01

Scorecard holder only

4672
OEM #23225-G1

Steering wheel hub

o
3
e

only

Phone: +64 9 302 2444 Fax: +64 9 309 6897 sales@eagledistributors.co.nz www.eagledistributors.co.nz

Bagle Distelbuters Lid, €

196 Pakenham St West Westhaven PO Box 90 205 Auckland Mail Centre Auckland New Zealand

13



BODY & TRIM - cCOMMON

STEERING WHEELS

4632

For G&E 1965-82
OEM #16565-G1

Steering wheel with center cap

4631
For #4632

Steering wheel center cap

2638

For G&E 1981-up
OEM #17421-G1

2670

For G&E all years
OEM #33639-G01

Two spade terminal
key switch uses #1919 key

4 spade terminal

key switch for lights or accessories

REPLACEMENT SWITCHES & KEYS

1919 25/Pkg

For G&E 1981-up
OEM #17063-G1

Key used with #2638 and #2670
key switch

2668

For G&E prior to 1981
OEM #13546-G1

Two terminal key switch
uses #1910 key

1910 25/Pkg

For G&E prior to 1981
OEM #11801-G1

Key used with #2668 key switch

2674

For all 12-volt applications

Universal key switch, 2 terminals with mixed key codes

Y

oo

196 Pakenham St West Westhaven PO Box 90 205 Auckland Mail Centre Auckland New Zealand
Phone: +64 9 302 2444 Fax: +64 9 309 6897 sales @eagledistributors.co.nz www.eagledistributors.co.nz

1

) Eagle Distrilbubors Lid,

EAGEZG0-0205



G020-09739v3

BODY & TRIM - COMMON

F & R PARTS ELECTRIC & GAS (2 CYCLE)

414

For G&E 1999-up
OEM #71205-G01

F & R handle

407

For electric 1994-98
OEM #71905-G01

F & R handle

412

For G&E 1986-94 pre Medalist
OEM #19886-G1

F & R handle ’

1661 20/Pkg

For G&E 1999-up
OEM #00740-G4

Screw for F & R handle

762
For gas (2 cycle) 1991-93
OEM #26422-G01

F & R handle

777

For G&E 1965-85
OEM #11989-G1

%

F & R handle

SEAT BOTTOMS, MEDALIST & TXT

2956 white
OEM #71611-G02
2951 Oyster
OEM #71611-G06
2952 Tan

OEM #71611-G08
For G&E 1994-up

\

Seat bottom assemblies, include cover, foam and wood

2923 Wwhite
OEM #71602-G01

2928 Oyster
OEM #71602-G03

2929 Tan

OEM #71602-G04
For G&E 1994-up

Seat bottom covers only

HIP RESTRAINT & SEAT HINGE - MEDALIST & TXT

5521 Passenger side
OEM #71701-GO1
5522 Drivers side

OEM #71702-G01
For G&E 1994-01 Medalist & TXT

Hip restraints for Medalist & TXT

5552

For G&E 1995-1/2-up
OEM #71610-GO1P

Seat hinge, latest style

Eagle Distelbuters Lid, 5

196 Pakenham St West Westhaven PO Box 90 205 Auckland Mail Centre Auckland New Zealand
Phone: +64 9 302 2444 Fax: +64 9 309 6897 sales@eagledistributors.co.nz www.eagledistributors.co.nz



BODY & TRIM - COMMON

SEAT BOTTOMS, MARATHON - WHITE

2955 Electric OEM #25503-G16 2914
2957 Gas OEM #25503-G26 For G&E 1973-94 pre Medalist
For GAS or ELECTRIC 1973-94 pre Medalist OEM #15146-G1

White seat bottom assembly includes cover, foam and wood
(no hardware) Part #2957 includes a gasket on bottom of wood White seat bottom cover only

SEAT BOTTOMS, MARATHON - TAN

2959 2918
For electric 1973-94 pre Medalist For G&E 1973-94 pre Medalist
OEM #25503-G18 OEM #15146-G3

=

Tan seat bottom assembly.
Includes cover, foam andwood. (No hardware) Tan seat bottom cover

SEAT HINGE, MARATHON
5553

For G&E 1973-94 pre Medalist "
OEM #18250-G1 ‘

Seat hinge all Marathon

SEAT BOTTOMS, E-Z-Go with SEAT BRAKE
2916

White passenger side seat bottom cover only. OEM #12135-G2

2915
White drivers side seat bottom cover only. OEM #12135-G1
For G&E with seat brake or split seats

Single seat bottom cover only for cars with seat brakes

@ Eagle Distributors Lbdl

196 Pakenham St West Westhaven PO Box 90 205 Auckland Mail Centre Auckland New Zealand
Phone: +64 9 302 2444 Fax: +64 9 309 6897 sales@eagledistributors.co.nz www.eagledistributors.co.nz

EAGEZG0-0205



G020-09739v3

BODY & TRIM - cOMMON

SEAT BACKS, MEDALIST & TXT

2954 white
OEM #71751-GO1

2946 Oyster
OEM #71751-G03

2948 T1an
OEM #71751-G04

Seat back assemblies. Include cover, foam & wood, no plastic rear cover

2921 white
OEM #71753-G01

2926 Oyster
OEM #71753-G03

2927 Tan
OEM #71753-G04

Seat back covers only

SEAT BACKS, MARATHON

2953

For G&E 1973-94 pre Medalist
OEM #24115-G2

White seat back assembly.
Includes cover, foam and wood. No plastic rear cover

2913

For G&E 1973-94 pre Medalist
OEM #14371-G1

- .
=N

White seat back cover only

2958

For G& E 1973-94 pre Medalist
OEM #24115-G7

Tan seat back assembly.

Inclues cover, foam and wood. No plastic rear cover

2917

For G&E 1973-94 pre Medalist
OEM #14371-G2

Tan seat back cover

SEAT BACK PARTS

5523 2924

For G&E 1994-01 For G&E 1984-94 pre Medalist
OEM #71752-G01 OEM #19056-G3

Black plastic seat back cap

2922

For G&E 1976-83
OEM #14724-G4

1679

For G&E 1984-94 pre Medalist
OEM #12095-G1

Seat back plastic shell Back rest adjustment knob

Black plastic seat back cap

Eagle Distrilbutors Lid.

196 Pakenham St West Westhaven PO Box 90 205 Auckland Mail Centre Auckland New Zealand
Phone: +64 9 302 2444 Fax: +64 9 309 6897 sales@eagledistributors.co.nz www.eagledistributors.co.nz

17



BODY & TRIM - COMMON

2970 2/Piece Camel

2972 2/Piece White
For E-Z-Go 1994-up

SEAT BACKS, MARATHON

“Best fitting seat cover ever made”

These stretch, knit fabric seat cover fits E-Z-GO 1994-up.
This is a washable slip cover with incredible tight fit.
Looks and feels better than artificial sheep skin.

Try a set today, you'll be glad you did! (Patent Pending)

5524 Bilack basket
For G&E 1994-up
OEM #75003-G02

SWEATER BASKETS

I

T Ty

Behind seat basket. Includes mounting hardware
17-1/2" x 8-1/2" up to 10-1/2" deep

5525 Black basket
For G&E 1994-up
OEM #75007-G02

Side basket.

Includes mounting hardware. 9" x 7" x 9-1/2" deep

FASTENERS

716 20/Pkg
OEM #15440-G1

1/4"-20 brass nut

725 20/Pkg
OEM #00544-G4

5/16"-24 zi.nc
plated steel nut

1615 20/Pkg
OEM #51401-G1

7

5/16"-18 brass nut

1648 20/Pkg
OEM #14390-G1

3/87-24 nylon lock nut

1649 20/Pkg
OEM #11207-G2

1/4”-20 whiz nut

1653 20/Pkg
OEM #00532-G5

3/8"-16 zinc
plated steel nut

1673 20/Pkg
OEM #11027-G5

3/87-16 whiz nut
with flange

1675 20/Pkg
OEM #00544-G3

5/16"-18 zinc
plated steel nut

18

“>
\_/‘

Eagle Distributors Lid.

196 Pakenham St West Westhaven PO Box 90 205 Auckland Mail Centre Auckland New Zealand

Phone: +64 9 302 2444 Fax: +64 9 309 6897 sales @eagledistributors.co.nz www.eagledistributors.co.nz

EAGEZG0-0205



G020-09739v3

BODY & TRIM - COMMON

FASTENERS

1677 20/Pkg
OEM #00532-G1

1/47-20 zinc plated steel nut

1693 20/Pkg
OEM #12064-G1

5/16" push nut

1656 20/Pkg
For all shock studs
OEM #10387-G1

3/8"-24 zinc plated steel nut

1613 20/Pkg
OEM #00685-G9

5/16"-18 x 2 stainless steel hex
cap screw

SCREWS & BOLTS

1670 20/Pkg
OEM #13389-G1

7

#10-32 x 1/4” brass machine
screw for crossovers

1672 20/Pkg
OEM #00427-G4

e AT ]

3/8"-16 x 1-1/2" zinc plated steel
hex head cap screw

1690 20/Pkg
OEM #13437-G1

5/16"-18 x 1 zinc plated steel
hex head machine screw

1695 20/Pkg
OEM #14443-G2

==

5/16" x 1” brake cable &
turnbuckle clevis pin

1750 20/Pkg
OEM #10387-G1

1/16” x 1-1/2” cotter pin

RIVETS

3092 100/Pkg
OEM #16816-G2

Black plastic Xmas tree push rivet

1826 100/Pkg
OEM #15766-G1

=

.375 head, .190 diameter, .525 length
drive rivet

1827 100/Pkg
OEM #15767-G1

.615 head, .190 body, .500 length
drive rivet

3087 100/Pkg
OEM #18436-G1

=

Black plastic large flange drive rivet

3040 100/Pkg
OEM #10570-G3

3/8” head x 3/16” body x 3/4” small
flange pop rivet

3041 1000/Pkg
OEM #10570-G3

3/8" head x 3/16” body x 3/4” small
flange pop rivet

196 Pakenham St West Westhaven PO Box 90 205 Auckland Mail Centre Auckland New Zealand
Phone: +64 9 302 2444 Fax: +64 9 309 6897 sales@eagledistributors.co.nz www.eagledistributors.co.nz

19



BODY & TRIM - coMMON

WASHERS

726 100/Pkg
OEM #00565-G8

5/16” zinc plated lock washer

1614 100/Pkg
OEM #00664-G8

5/16” stainless steel lock washer

1654 100/Pkg
OEM #00566-G1

3/8” zinc plated lock washer

1676 100/Pkg
OEM #00565-G7 .

1/4” zinc plated steel lock washer

1612 100/Pkg
OEM #00660-G8

5/16" x 5/8”
stainless steel small washer

1616 100/Pkg
OEM #00907-G3

5/16" x 3/4” stainless
steel large washer

1674 100/Pkg
OEM #00560-G1

3/8” x 1" zinc plated steel washer

1697 20/Pkg
OEM #14536-G1

Head bolt washer

3336 100/Pkg
OEM #15439-G1

5/16" x 5/8” steel washer

20

196 Pakenham St West Westhaven PO Box 90 205 Auckland Mail Centre Auckland New Zealand

Phone: +64 9 302 2444 Fax: +64 9 309 6897 sales @eagledistributors.co.nz www.eagledistributors.co.nz

EAGEZG0-0205



